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ax*+bx+c=0

3aKpouTe a4eunky, B
KOTOPOW OQHOBPEMEHHO
a>0,b>0,c>0.

X>=9x—10=0 |x?-12x+36=0 |9x*—14x+5=0

7 —x+1=0 |[x+5x—6=0 -




ax’+bx+c=0
3aKkpounTe A4enKku, B
KOTOpbIX D< 0.

X =9x=10=0 |- 12x+36=0 -
-xz+5X_6=o 12 +7x+ 10




ax’+bx+c=0
3aKkpounTe a4enku, B
KOTOPbIX ABa KOPHS.

x2-12x+36=0

9x’—14x +5=0

7x2—x+1=0




ax’+bx+c=0

3aKpouTe a4eunky, B
KOTOpOW XOTS Obl OANH U3
KOPHEN OoTpULLaTENbHbIW.

X>-12x+36=0 |9x°—14x+5=0

7x2—x+1=0




ax’+bx+c=0

3aKkpounTe A4enkun B
KOTOPbIN KOPHU ABNAIOTCA
OPOOHbLIMN YUCnamMmm.

X>=9x—10=0 |x?-12x+36=0 |9x*—14x+5=0

7 —x+1=0 |[x+5x—6=0 -




Hauoume cymmy ecex
KopHeU ypasHeHuUU!



